DOCK ACCESSORIES

Dock Leveling Kit Pair

Instructions
Part #: 1007832

Parts List
ITEM | QTY | PART NUMBER DESCRIPTION
1 2 11003145 Leg Post Sleeve
2 2 [1035946 Winch
3 2 11020644 Cable Keeper Kit
4 1 [1007702 Cable/Hook Assembly
- 1 ]1004456 Bolt Bag
5 2 11002554 Button Cap Screw 3/8 x 1.0
6 4 [1001805 Nut Nyloc 3/8
7 2 11002437 Bolt Hex 3/8 x 3.75
8 4 [1002599 Washer Flat 3/8

Failure to follow instructions may result
in personal injury and may invalidate the
applicable warranty.

Step 1. Attach each Winch to one Leg Post
Sleeve with one 3/8 x 3-3/4 Hex Bolt, one 3/8
Nyloc Nut, and one 3/8 Flat Washer on the top
hole and one 3/8 x 1.0 Button Cap Screw, one
3/8 Nyloc Nut, and one 3/8 Flat Washer on the
Bottom - as seen in Detail "A".

Step 2. Attach the Cable/Hook Assembly to
the winch with the Cable Keeper.

Step 3. Attach the Winch Handle to the Winch
with the nut and bracket already installed on the
winch shaft.

Step 4. Slide the Dock Leveling Kit over the
Leg Posts, attach the hook to the bottom of the
dock frame,and tighten the Dock Leveling Kit
winch just until the cable is snug.

Step 5. Loosen the set bolts on the dock
leg/leg pocket. Raise or lower the winch until
the dock is level and in the desired position.

Step 6. Retighten the set bolts and remove
the the Dock Leveling Kit.

B SHOREMASTER.COM

Leg Post

Dock Frame

DETAIL B




